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Sub.Code :4171 

GRADE XI 

Finance 

Model questions 

ljBfyL{n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfofF lsgf/fdf lbOPsf] cª\sn] k"0f{fª\s hgfpF5 .   

Candidates are required to give their answers in their own words as far as practicable. The figures in the 

margin indicate full marks. 

Time : 3 Hrs.           Full Marks: 75 

 

;d"x s -Group A) 

clt ;+lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 

;a} k|Zgx¿sf] pQ/ lbg'xf];\  (Attempt All Questions.) (11 x1 = 11) 

1. ljQzf:qsf] cy{ n]Vg'xf];\ . 

 Write the meaning of finance.  

2. jf:tljs ;DklQ / ljlQo ;DklQ jLrsf] km/s 5'6\ofpg'xf];\ . 

 Differentiate between real assets and financial assets.  

3. k|ltt kqsf] cy{ n]Vg'xf];\ . 

 Write the meaning of letter of credit.  

4. l:y/cfo k|lte"ltx? eGgfn] s] a'em\g'x'G5 < 

 What is meant by fixed income securities? 

5. DEMAT vftf eg]sf] s] xf]< 

 What is a DEMAT account? 

6. dfgf} tkfFO{n] cfkm\gf] lzIffsf Ps jif{ cjlwsf] ? @))) shf{ lng'eof] . shf{sf] jflif{s Aofhb/ !* % 5 . 

tkfFO{n] a}+s shf{sf] Aofh slt e'Qmfg ug'{kb{5 . 

 Suppose you borrow Rs. 2000 from bank for one year to finance your education. 

Interest on loan is 18% per annum. How much interest you pay on your bank loan? 

7. n3'ljQnfO{ kl/eflift ug'{xf]; . 

 Define microfinance.  

8. hf]lvdnfO{ kl/eflift u/L pbfx/0f ;d]t lbg'xf];\ . 

 State risk with some examples.  

9. hLjg jLdf / lghL{jg jLdf jLrsf] leGgtf 5'6\ofpg'xf];\ . 

 Differentiate between life and non-life insurance. 

10. ;fd'lxs nufgL sf]if eg]sf] s] xf]  

 What is mutual fund? 

11. rqmjtL{s/0f  eg]sf] s] xf] < Pp6f pbfx/0f lbg'xf];\ . 

 What is compounding? Give an example.  
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;d"x v (Group B) 

;+lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

;a} k|Zgx¿sf] pQ/ lbg'xf];\ . (Attempt All Questions) (8 x 5 = 40) 

12. ljlQo Aoj:yfkssf Aoj:yfklso sfo{x?sf af/]df 5nkmn ug'xf];\ . 

 Discuss the managerial functions of the financial manager. 

13. g]kfndf ljleGg lgIf]kd'vL ;+u7gx?sf k|sf/sf af/]df ;+If]kdf j0f{g ug'{xf];\ . 

 Describe briefly the different types of depository institutions in Nepal. 

14. g]kfn c6f] sDkgL lnld6]8sf] jf;nftdf /x]sf lgDg lnlvg ;"rgfx?sf af/]df lbO{Psf] 5g\ M 

 Following information are derived from the balance sheet of Nepal Auto Company 

Limited:  

 cz+ k"FhL (Share capital) Rs. 3000,000 

 z]o/ lk|ldod (Share premium) Rs. 2000,000 

 cljtl/t  cfo (Retained earning) Rs. 1000,000 

a. sDkgLdf z]o/wgLsf] c+z jf v'b d"No slt xf] < 

 What is the shareholder's equity of the company? 

b. obL sDkgL;Fu %))))z]o/ lsQf 5 eg]  k|lt z]o/ lstfaL d"No slt xf] < 

 What is the book value per share if the company has 50,000 shares outstanding? 

15. lgIf]ksf k|sf/x? s] s] x'g\ < ;+If]kdf AofVof ug'{xf];\ . 

 What are the types of deposits? Explain briefly.  

16. ;xsf/Lsf l;4fGtx? AofVof ug'{xf];\ . 

 Explain the principles of cooperative.  

17. Pp6f hLjg jLdf sDkgLsf @)))) lgtL vl/bstf{x? /x]sf 5g\ .k|To]s lgtL vl/bstf{x? ;Fu #% jif]{ 

?=@%))))hLjg jLdf ul/of] . sDkgLn] ;f] sfo{ ug{ aflif{s lk|ldod lgtL vl/bstf{;Fu /sd p7fpb5  h;n] 

vl/bstf{sf] d[To' ePsf] v08df gub k|ltkmn e'QmfgL ug{ ;lsG5 . ;Defljt #% jif{df d[To'b/ !))) hgfdf # 

hgf 5  / d'b|fsf] nfut &% 5 . kf]ln;L wf/sx?nfO{ jflif{s ?kdf lk|ldod b/df vr{ ug{ rflx/x]sf] 5 ls 

nfeu|fxLnfO{ e'QmfgL ug{ /sd kof{Kt xf];\ . 

 A life insurance company has 20,000 policy holders. Each policy holders with the age 

of 35 has Rs. 250,000 for life insurance. The company is willing to set an annual 

premium rate to charge to these policy holders so that it will have sufficient cash to 

pay off the beneficiaries of any policyholders who die this year. The expected death 

rate for age 35 is 3 per 1000. The cost of money for the insurance company is 7%.  

a. ;Defljt d[To'b/ u0fgf ug'{xf];\ . 

 Calculate the expected death rate.  

b. jLdf sDkgLn] ;Defljt d[To' x'Fbf slt e'QmfgL ug'{kb{5 . 

 How much the insurance company pays for the claims for the expected death? 
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c. lgtL vl/bstf{nfO{ z'?sf] ;dodf sDkgLn] slt z'Ns p7fpb5 < 

 How much the company charges from the policyholders at the beginning of the 

policy period? 

cyjf (Or) 

 /fli6 «o jLdf ;+:yfgn] DofbL jLdf k|n]v jfkt lgDg of]hgfx? lbOPsf] 5 . 

 Term life policy offered by Rastriya Beema Sansthan is as follows:  

 DofbL jLdf k|n]v /sd (Amount of term life policy) = Rs. 675,000 

 aflif{s d[To'b/ (Annual mortality rate) = 3% 

 d'b|sf] nfut (Cost of money) = 10% 

 obL tkfFO{n] DofbL jLdf k|n]v v/Lb ug{ tTk/tf b]vfpg' ePdf tkfFO{n] lk|ldod jfkt slt /sd ltg'{ kb{5 . 

 If you are willing to purchase this term life policy, what fair amount of premium you 

must pay? 

18. Ps ;fd'lxs nufgL sf]if;Fu XYZ sDkgLsf] !))) lsQf z]o/ ? !%) sf b/n] /  ABC sDkgLsf] @))) 

lsQf z]o/ ?= !$) sf b/n] sf/f]jf/ ePsf] 5 . sf]if;Fu !))) ljBdfg z]o/ ;Vof 5 .  

 A mutual fund has 1000 shares of XYZ Company, currently trading at Rs. 150, and 

2000 shares of ABC Company, currently trading at Rs. 140. The fund has issued 

10,000 shares.  

a. sf]ifsf] v'b ;DklQ d"No slt xf] < 

 What is the NAV of the fund? 

b. XYZ sDkgLsf] z]o/ ? !*) n] a[l4 / ABC sDkgLsf] z]o/ ?= !!) n] 36\bf jif{sf] clGtddf 

nufgLstf{sf] eljiocg';f/ sf]ifsf] v'b ;DklQ d"No slt xf] < 

 If investors expect the price of the XYZ Company's shares to increase to Rs. 180 

and price of ABC Company shares to decline Rs. 110 by the end of the year, 

what is the expected NAV at the end of the year? 

19. s'g} Ps of]hgfsf] lgDg lnlvt aif{sf] clGtdsf] gub k|jfx lbOPsf] 5 . 

 The following cashflow of a project occurs at the end of each year.  

 jif{ (Year) gub k|jfx(Cashflow) 

1  Rs. 700 

2 Rs. 900 

3 Rs. 200 

4 Rs. 600 

5 Rs. 400 

a. !) % a6\6fb/ cg';f/ jt{dfg d"No u0fgf ug'{xf];\ . 

 Calculate present value by using 10 % discount factor. 

b. !) % rqmjtL{s/0f cg';f/ efjL d"No u0fgf ug'{xf];\ . 
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 Calculate future value by using 10% interest rate factor.  

cyjf (Or) 

 aflif{sL eGgfn] s] a'em\g'x'G5 < aflif{sLsf k|sf/x? AofVof ug'{xf];\ .   2+3=5 

 What do you mean by an annuity? Explain the types of annuity.  

 

;d"x u (Group C) 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

;a} k|Zgx¿sf] pQ/ lbg'xf];\ . (Attempt All Questions)    ( 3 X 8 = 24)    

20. dfr{ %, @)@) sf] lbgdf l5d]s n3'ljQ ljlQo ;+:yfsf] g]kfn lwtf]kq ljlgdo lnld6]8  (NEPSE) df ePsf] 

sf/f]af/sf] :6s sf]6]zg tn pNn]v ul/Psf] 5 . 

 Consider the following stock quote for Chhimek Laghubitta Bittiya Sanstha Limited 

derived from NEPSE trading as on March 5, 2020.  

Symbol Close Vol. Prev. 

close 

Diff% 52 weeks 

High Low 

CBBL 1070 19040 1021 4.80 1343 751 

a. sf/f]jf/ aGb x'g] lbgdf pQm :6ssf] clGtd d"No slt lyof] < 

 At what price did the stock close on the trading day? 

b. l5d]s n3'ljQ ljlQo ;+:yfsf] pQm lbg slt z]o/x? sf/f]jf/ ePsf lyP < 

 How many shares of CBBL stock were traded on the day? 

c. sf]6]zgsf] km/s s;/L u0fgf ul/G5 < o;sf] cy{ s] xf] < 

 How do you calculate the quote "Diff%"? What does it mean? 

 %@ xKtfsf] ;a}eGbf clwstd / Go"gtd sf/f]jf/ d"No slt slt xf] < 

d. What is the highest and lowest trading price of stock during last 52 weeks? 

cyjf (Or) 

 g]kfndf z]o/x? vl/bsf nfuL cfj]bg lbg l;–cfZjf k|0ffnLsf] k|of]usf] af/]df AofVof ug'{xf];\ . 

 Explain the C-ASBA system used to apply for purchasing shares in Nepal. 

21. jLdfsf] kl/ro lbg'xf];\ / o;sf cfwf/e"t l;4fGtx? AofVof ug'{xf];\ . 

 Define insurance and explain the fundamental principles of insurance. 

22. tkfFO{ ?= !),)),))) sf] % jif]{ !@ % sf b/n] k"0f{ cdTo{s/0f ls:tf C0f lng] of]hgfdf x'g'x'G5 .   

 You are planning to borrow Rs. 1000,000 on a 5-year, 12% annual payment fully 

amortized term loan.  

a. pQm C0fsf] aflif{s e"Qmfg slt xf] < 

 What is the annual payment on the loan? 

b. pQm C0fsf] bf]>f] aif{sf] clGtd Aofh e'QmfgL slt xf] < 
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 What fraction of payment made at the end of second year will represent the 

payment of interest? 

c. pQm C0fsf] t];|f] aif{sf] ;fFjf e"QmfgL slt xf] < 

 What fraction of payment made at the end of third year will represent the 

repayment of principal? 

d. pQm C0fsf] clGtd aif{sf] Aofh / ;fFjf e"QmfgL slt xf] < 

 What would be the amount of interest and principal paid in the final year? 

-0- 

 


